1. Найдите корень уравнения −4 − 6x = 4x − 3.
2. Решите уравнение  −2(5 − 3x) = 7x + 3.
3. Решите уравнение: [image: https://oge.sdamgia.ru/formula/dc/dc67b79f5937a157a8a67b9126a1d0b1p.png]
4. Найдите корни уравнения [image: https://oge.sdamgia.ru/formula/3f/3f9fe0eca11b3fe0a1a2b90c5058016ap.png]
5. Решите уравнение [image: https://oge.sdamgia.ru/formula/1e/1e6c0280d346fc2858e9cd5553e81ed9p.png]
6.Решите уравнение [image: https://oge.sdamgia.ru/formula/5d/5d0b3795f2a7f2d98860dde76b8158dap.png]
7. Решите уравнение [image: https://oge.sdamgia.ru/formula/e4/e4c909d2a387d10e9766275cdf6b2bc1p.png]
8. Решите уравнение  [image: https://oge.sdamgia.ru/formula/09/092a608a1ddd4c77c6389522d57b9ff7p.png].
9. Решите уравнение [image: https://oge.sdamgia.ru/formula/95/95212b942676679dd082b0900c152455p.png]
10. Решите уравнение [image: https://oge.sdamgia.ru/formula/b8/b8430bff04307bfb50ce28ed6d8b3376p.png]
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